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AP Statistics - 3.1B Activity Linear Regression Activity
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Part 1: The purpose is to understand correlation coefficient

ACTIVITY: Guessing correlation http://istics.net/Correlations/
There are 4 graphs, guess the value of the correlation coefficient!

Part2: The purpose is to explore the impact of outliers on an LSRL equation.

Enter the following lists into your calculator:
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1) Sketch a scatterplot.
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e) Find the least squares regression equation. Write equation in context.
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0 Add the data point (5,8) to the lists. Sketch a scatterplot. Identify the point (5,8) with an X on your plot.
Find the LSRL and the correlatior coefficient. Notice what effect this point has on the LSRL and r.
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3) Change the point (5,8) to (12,12). Sketch a scatterplot. Identify the point (12,12) with an X on your plot.
Find the LSRL and the correlation coefficient. Notice what effect this point has on the LSRL and r.
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\‘\“ 4) Change the point (12,12) to (12,0). Sketch a scatterplot. Identify the point (12,0) with an X on your plot.
Find the LSRL and the correlation coefficient. Notice what effect this point has on the LSRL and r.
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TIP: Reread section 3.1 to understand concepts covered in this activity | A:l\‘\*-



